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FPRAI7IVbE 5.6% BAEBE 2372 g/cm3

No BE WEOE | ERZEFE |NTEE
1 (g/cm?) (%) (mm) ([El/mm)
T 2.368 99.8 1.03 2740
2 2.375 100.1 0.87 2250
3 2.370 99.9 1.13 2630
15 2.371 100.0 1.01 2520
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RAMOEETE 2.372 (9./cm3)
INA S DIESE BRI 7IVNT B
FRI7IVNE | 5.6 (%)
papormen  Q.EN 2B 3. RBUN BB C,=1.0
AR LHEE 686 N BHE  0.63 MPa
HEBEE 60 C FTEH 2520 @
e (.05 2. 71— BEFE C=1.0
{HEAADNO. 1 2 3 49
DR DB (9/cm®)| 2.368| 2.375| 2.370| 2.371
QUKD FHEDHE (%) 99.8| 100.1| 99.9| 100.0
® daio 1.48| 1.52| 1.63
ZE8 (mm) @  dus 1.72| 171 1.85
® deo 1.95| 1.99| 2.09
OZEHBNE 6-@ 0.23| 0.28] 0.24|® 0.25
ORRER(DS) | DS=15x42:CxCo/ | Hma0| 2250|2630
(E,/mm) ©
OHIEHIRTERE (DS) | DS =15%42%C%C.,/ © 2520
(|, mm) @
OFIEE DEDTS (9-®)2 48400| 72900| 12100
OiEERE S=(Z®@/n-1)""2 @ 258
QLB (%) 0/ 10.2
ERTE (%) do 1.03| 0.87 1.13 1.01
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SAERBFRS [42] DO DS RD
PSRN, 0 ‘ 5 10| 15 | 30 | 45 | 60 rml | [E/mm] | /4
No. 3 0.00 0.72 1. 21 1.35 1. 41 1.63 1.85 2.09 1.13 2630.0 0.0160
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